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Students with student-number < 95102000 answer parts <l (e.g. 1-all)
Students with student-number > 95102000 answer parts < (e.g. 1)
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Students with Odd student-number answer parts a (e.g. Q4a)
Students with Even student-number answer parts b (e.g. Q4b)

4A - A dual slope A/D has R = 50k ohms and a C = 0.02 micro Farads. The reference voltage is 8 Volts and the

fixed integration time is 20ms. Find conversion time for 6 Volt input. (< #)

4B - A dual slope A/D has R = 80k ohms and a C = 0.01 micro Farads. The reference voltage is 5 Volts and the

fixed integration time is 10ms. Find conversion time for 4 Volt input. (< #)
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